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QUESTION 1

Which two features would cause latency in a WAN connection? (Choose two.) 

A. IPS 

B. syslog 

C. telemetry 

D. UTM antivirus 

Correct Answer: AD 

 

QUESTION 2

You are evaluating an existing network to determine requirements for a network upgrade. In this scenario, which
statement is true? 

A. A network baseline identifies devices that do not have redundant components. 

B. A network baseline identifies traffic growth patterns across network devices. 

C. A network baseline identifies how many users are connected to the network. 

D. A network baseline identifies the type and level of traffic load on the network. 

Correct Answer: D 

 

QUESTION 3

What are two valid reasons to implement a network management solution within your network infrastructure? (Choose
two.) 

A. to increase network visibility 

B. to eliminate the need for network planning 

C. to reduce network operating expenditures 

D. to reduce network capital expenditures 

Correct Answer: AC 

 

QUESTION 4

You are asked to evaluate a WAN design for a corporation with a focus on cost, security, and the ability to 

have direct adjacencies between your remote sites. 
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Which two solutions would meet the requirements? (Choose two.) 

A. MPLS Layer 3 VPN 

B. GRE tunnels over the Internet 

C. VPLS Layer 2 VPN 

D. IPsec tunnels over the Internet 

Correct Answer: CD 

 

QUESTION 5

In a network design using the traditional tiered structure, which two tiers connect to untrusted domains? (Choose two.) 

A. access 

B. WAN edge 

C. core 

D. aggregation 

Correct Answer: BD 
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